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QUESTION NO: 1

A server side SteelHead deployment is to be out-of-path (SSOOP).

Which of the below are limitations compared to physical or virtual in-path? (Choose two.)

A. Auto discovery is not supported.

B. Port or full transparency is not supported.

C. Only one SteelHead is supported on the server side.

D. Data store synchronization is not possible.

E. Only enhanced auto discovery can be used.

ANSWER: A C 

QUESTION NO: 2

In order to achieve SteelHead SaaS optimization two things must happen. First acquire and install a subscription license to 
enable the feature, and then SteelHead SaaS must be configured.

Which statement correctly describes the configuration step?

A. Every SteelHead is configured with a registration key included in a RiOS upgrade.

B. All the configuration is done from the Riverbed Cloud Portal.

C. Every SteelHead is configured with a new license in the standard form LK1-SHSaaS-XXX.

D. Every SteelHead is configured with the same registration key copied from the Riverbed Cloud Portal.

ANSWER: B 

QUESTION NO: 3

Steelhead appliances increase. (Select 2)

A. Application performance

B. Data transfer speed over the WAN

C. Data transfer speed over the LAN

D. Quality of service

E. WORM stability
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F. Prototyping

ANSWER: A B 

QUESTION NO: 4

It is possible to backup your RSP slots usinG. (Select 2)

A. ftp

B. http

C. scp

D. https

E. tftp

ANSWER: A C 

QUESTION NO: 5

What action should be taken when the Steelhead appliance datastore is full?

A. Disconnect all users

B. Expand disk capacity

C. No action is required

D. Clean the datastore

E. Insert a USB key for extra storage

ANSWER: C 

QUESTION NO: 6

If the Steelhead Mobile client optimization is being blocked by the client firewall, you must set which port on the client firewall 
to allow incoming traffic?

A. 7744

B. 7800

C. 7801

D. 7810
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E. 7820

ANSWER: C 

QUESTION NO: 7

What are some key reasons for purchasing an Interceptor appliance? (Select 3)

A. Redirect traffic to a pool of Steelhead appliances

B. Failover for Steelhead appliances

C. No single point of failure in a redundant Steelhead appliance deployment

D. Centralize reporting and management

E. Increase throughput of connections

ANSWER: A B C 

QUESTION NO: 8

How many separate TCP sessions exist for each optimized connection?

A. 1

B. 2

C. 3

D. 4

E. It depends on the WAN visibility mode

ANSWER: C 

QUESTION NO: 9

Using an Interceptor appliance is an alternative to what network designs? (Select 2)

A. WCCP

B. PBR

C. Connection Forwarding

D. Fixed-target rules

E. Peering rules
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ANSWER: A B 

QUESTION NO: 10

What is the default action of a Steelhead appliance when it hits the bandwidth limit?

A. Fail-to-wire

B. Inbound Optimized traffic is shaped to the specifications of the Steelhead appliance

C. Passthrough all connections

D. Passthrough new connections

E. Outbound Optimized traffic is shaped to the specifications of the Steelhead appliance

ANSWER: E 

QUESTION NO: 11

What feature is not available for optimized connections when using Port or Full transparency over the WAN?

A. Top Talkers report

B. Quality of Service marking

C. VLAN segregation

D. Path Selection

E. Connection Pooling

ANSWER: E 

QUESTION NO: 12

Once a Steelhead Mobile client connects to Steelhead Mobile Controller (SMC), it retrieves what from the SMC? (Select 2)

A. Secure vault key

B. License

C. The Central Management Console (CMC) tree

D. The Steelhead domain catalog descriptor database (DCDD)

E. Acceleration Policy

ANSWER: B E 
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QUESTION NO: 13

Name the areas where the Steelhead appliance will be beneficial. (Select 3)

A. Accelerate chatty applications that use well known protocols such as CIFS and MAPI

B. Save bandwidth on LAN links

C. With a single TCP session, effectively use bandwidth on high-speed WAN links

D. Reduce UDP traffic on the WAN by engaging Riverbed Professional Services

E. Remove the traffic load from MAPI servers

ANSWER: A C D 

QUESTION NO: 14

The interface used by the Steelhead appliance for system management and datastore synchronization is:

A. WAN0_0

B. LAN0_0

C. Inpath0_0

D. Primary

ANSWER: D 

QUESTION NO: 15

Which of the following is NOT a valid in-path rule on the Interceptor appliance?

A. Redirect

B. Pass-through

C. Discard

D. Deny

E. Fair-peering

ANSWER: E 

https://dumpsboss.com/

